

On the Namias and Tuentler Identities for Bernoulli Numbers

¹J. Morales, ¹G. Ovando and ²J. López-Bonilla

¹CB1-Área de Física, AMA, Universidad Autónoma Metropolitana-Azcapotzalco,
 Av. San Pablo 180, Col. Reynosa-Tamaulipas CP 02200, CDMX, México,
²ESIME-Zacatenco, Instituto Politécnico Nacional,
 Edif. 4, 1er. Piso, Col. Lindavista CP 07738, CDMX, México

Abstract: We exhibit an elementary deduction of the Tuentler and Namias relations involving Bernoulli numbers.

Key words: Namias identities - Bernoulli numbers - Tuentler's formulae

INTRODUCTION

Here we consider the quantities:

$$Q(a, b) \equiv \sum_{r=0}^{m-1} \binom{m}{r} a^r B_r b^{m-r} = (aB + b)^m - a^m B_m, \quad (1)$$

where it was applied the Rainville's notation $B^k \equiv B_k$ for the Bernoulli numbers [1-8], then:

$$\begin{aligned} a^{-m} Q + B_m &= (B + 1 + c)^m = \sum_{r=0}^m \binom{m}{r} (B + 1)^r c^{m-r}, \quad c = \frac{b-a}{a}, \\ &= c^m \left[\sum_{r=2}^m \binom{m}{r} B_r c^{-r} + 1 + \frac{m}{2c} \right] = m c^{m-1} + \sum_{r=0}^m \binom{m}{r} B_r c^{m-r}, \end{aligned} \quad (2)$$

Because [9] $(B + 1)^r = B_r, r \geq 2$, therefore:

$$B_m + a^{-m} Q(a, b) = m c^{m-1} + B_m(c), \quad (3)$$

Involving the Bernoulli polynomials [1-5, 9].

We may select the values $a = 2, b = 1 \therefore c = -\frac{1}{2}$, hence from (2):

$$(-1)^m [2^m B_m + Q(2, 1)] = -2m + \sum_{k=0}^m (-1)^k \binom{m}{k} 2^k B_k, \quad (4)$$

But we know the Namias identity [10-14]:

$$Q(2, 1) \equiv \sum_{r=0}^{m-1} \binom{m}{r} 2^r B_r = 2(1 - 2^m) B_m, \quad (5)$$

Then (4) implies the relation:

$$\sum_{k=0}^m (-1)^k \binom{m}{k} 2^k B_k = 2m + (-1)^m (2 - 2^m) B_m, \quad m \geq 0. \quad (6)$$

We can give a simple proof of the property (5), in fact:

$$Q(2, 1) = 2^m \sum_{r=0}^{m-1} \binom{m}{r} B_r \cdot \left(\frac{1}{2}\right)^{m-r} = 2^m \left[B_m \left(\frac{1}{2}\right) - B_m \right], \quad (7)$$

Because [1-5, 9]:

$$B_n(x) = \sum_{j=0}^n \binom{n}{j} B_j \cdot x^{n-j}, \tag{8}$$

Besides [9, 15, 16]:

$$B_m \left(\frac{1}{2}\right) = \left(\frac{1}{2^{m-1}} - 1\right) B_m, \quad m \geq 0, \tag{11}$$

Thus the application of (11) into (7) gives (5), q.e.d.

Now we take the values $a = 2, b = 3 \therefore c = \frac{1}{2}$, then from (2):

$$Q(2, 3) \equiv \sum_{r=0}^{m-1} \binom{m}{r} 2^r B_r \cdot 3^{m-r} = 2m - 2^m B_m + \sum_{k=0}^m \binom{m}{k} 2^k B_k \stackrel{(5)}{=} 2m + 2(1 - 2^m) B_m, \tag{12}$$

In agreement with Tuenter [17].

We can employ (3) for the values $a = 3, b = 1 \therefore c = -\frac{2}{3}$:

$$Q(3, 1) = -3 \cdot 2^{m-1} (-1)^m m + 3^m \left[B_m \left(-\frac{2}{3}\right) - B_m \right], \tag{13}$$

However [9]:

$$B_m \left(-\frac{2}{3}\right) = (-1)^m \left[B_m \left(\frac{2}{3}\right) + m \left(\frac{2}{3}\right)^{m-1} \right], \quad B_m \left(\frac{2}{3}\right) = (-1)^m B_m \left(\frac{1}{3}\right), \tag{14}$$

Hence from (13):

$$Q(3, 1) = 3^m \left[B_m \left(\frac{1}{3}\right) - B_m \right]; \tag{15}$$

Similarly, if $a = 3, b = 2, c = -\frac{1}{3}$ then (3) implies:

$$Q(3, 2) = 3^m \left[(-1)^m B_m \left(\frac{1}{3}\right) - B_m \right], \tag{16}$$

Therefore:

$$Q(3, 1) + Q(3, 2) = 3^m \left[(1 + (-1)^m) B_m \left(\frac{1}{3}\right) - 2 B_m \right], \tag{17}$$

$$= \begin{cases} 3, & m = 1, \\ 0, & m \text{ odd} \geq 3, \\ 3(1 - 3^m) B_m, & m \text{ even}, \end{cases}$$

Which is equivalent to the Namias identity [10-14]:

$$\sum_{r=0}^{m-1} \binom{m}{r} 3^r (1 + 2^{m-r}) B_r = 3(1 - 3^m) B_m, \quad \forall m \geq 1. \tag{18}$$

The expression (3) gives the relations:

$$Q(3, 2) = 3^m \left[(-1)^m B_m \left(\frac{1}{3}\right) - B_m \right], \quad Q(3, 4) = 3m + 3^m \left[B_m \left(\frac{1}{3}\right) - B_m \right], \tag{19}$$

That is:

$$Q(3, 2) + Q(3, 4) = 3m + 3^m \left[(1 + (-1)^m) B_m \left(\frac{1}{3} \right) - 2 B_m \right], \quad (20)$$

$$= \begin{cases} 6, & m = 1, \\ 3m, & m \text{ odd } \geq 3, \\ 3m + 3(1 - 3^m) B_m, & m \text{ even,} \end{cases}$$

In harmony with Tuentler [17]:

$$\sum_{r=0}^{m-1} \binom{m}{r} 3^r (2^{m-r} + 4^{m-r}) B_r = 3m + 3(1 - 3^m) B_m, \quad m \geq 1. \quad (21)$$

In (17) and (20) was used the formula [9, 15, 16]:

$$B_m \left(\frac{1}{3} \right) = \frac{1}{2} \left(\frac{1}{3^{m-1}} - 1 \right), \quad m \text{ even.} \quad (22)$$

REFERENCES

1. Riordan, J., 1968. Combinatorial identities, John Wiley & Sons, New York.
2. Comtet, L., 1974. Advanced combinatorics. The art of finite and infinite expansions, D. Reidel Pub., Dordrecht, Holland.
3. Ch. A. Charalambides, 2002. Enumerative combinatorics, Chapman & Hall / CRC, New York.
4. Srivastava, H.M. and J. Choi, 2012. Zeta and q-zeta functions and associated series and integrals, Elsevier, London.
5. Quaintance, J. and H.W. Gould, 2016. Combinatorial identities for Stirling numbers, World Scientific, Singapore.
6. López-Bonilla, J., R. López-Vázquez and O. Puente-Navarrete, 2019. Identities for Bernoulli and Stirling numbers from the Roman's formula, *Comput. Appl. Math. Sci.*, 4(1): 10-11.
7. Cruz-Santiago, R., J. López-Bonilla and J. Yaljá Montiel-Pérez, 2019. On some identities for Bernoulli numbers, *African J. Basic Appl. Sci.*, 11(2): 30-31.
8. López-Bonilla, J., J. Morales and G. Ovando, 2020. Nishimura's identities involving Bernoulli numbers, *African J. Basic Appl. Sci.*, 12(1): 3-5.
9. Sándor, J. and B. Crstici, 2004. Handbook of number theory. II, Kluwer Academic, Dordrecht, Netherlands.
10. Namias, V., 1986. A simple derivation of Stirling's asymptotic series, *Amer. Math. Monthly*, 93(1): 25-29.
11. Deeba, E.Y. and D.M. Rodriguez, 1991. Stirling series and Bernoulli numbers, *Amer. Math. Monthly*, 98(5): 423-426.
12. Bucur, A., J. López-Bonilla and J. Robles-García, 2012. A note on the Namias identity for Bernoulli numbers, *J. Sci. Res. (India)*, 56: 117-120.
13. López-Bonilla, J. and V. Ortiz-Cadena, 2017. A note on the Song's identity for $\zeta(2n)$, *Prespacetime J.*, 8(1): 90-92.
14. López-Bonilla, J., J. Morales and G. Ovando, 2020. Nishimura's identities involving Bernoulli numbers, *African J. Basic & Appl. Sci.*, 12(1): 3-5.
15. Almkvist, G. and A. Meurman, 1991. Values of Bernoulli polynomials and Hurwitz's zeta function at rational points, *C. R. Math. Rep. Acad. Sci. Canada*, 13(2-3): 104-109.
16. Granville, A. and Zhi-Wei Sun, 1996. Values of Bernoulli polynomials, *Pacific J. Math.*, 172(1): 117-137.
17. Tuentler, H.J.H., 2006. The Frobenius problem, sums of powers of integers, and recurrence for the Bernoulli numbers, *J. Number Theory*, 117(2): 376-386.